Divide by Positive Powers of Ten (])

Find each quotient.

7,0622:10% = 1,1269:10% =
9,805:103% = 5,78:103 =
4,52:10" = 1,85:10% =
53:10° = 0,385:10% =
1,914 :10°% = 8:10% =
51:10= 1:103 =
0,824:10° = 5118:10° =
9,8469 : 103 = 302:10' =
8,08:10% = 4,831:10°% =
1,546 :10" = 5,2871:10' =
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Divide by Positive Powers of Ten (J) Answers

7,0622:10% = 0,070622

9,805 : 10° = 0,009805

4,52:10' = 0,452

5,3:10°=0,0053

1,914 :10°=0,001914

51:10'=0,51

0,824 :10° =0,000824

9,8469 : 10° = 0,0098469

8,08:10%=0,0808

1,546 :10' = 0,1546

Find each quotient.

1,1269:10%=0,011269

5,78:10°=0,00578

1,85:10'= 0,185

0,385: 10" = 0,0385

8:10'=10,8

1:10°=0,001

5,118:10°=0,005118

3,02:10'=0,302

4,831:10° =0,004831

5,2871:10'=0,52871
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